
 

 

Answer on Question #49554 – Math – Trigonometry 

If A and B are acute angles satisfying sin 𝐴 = sin 𝐵 sin 𝐵 and 2 cos 𝐴 cos 𝐴  = 3 cos 𝐵 cos 𝐵 then A+B= 

Solution 

sin 𝐵 sin 𝐵 + cos 𝐵 cos 𝐵 = 1 = sin 𝐴 +
2

3
cos 𝐴 cos 𝐴 = sin 𝐴 +

2

3
(1 − sin2 𝐴). 

2

3
sin2 𝐴 − sin 𝐴 +

1

3
= 0 → sin2 𝐴 −

3

2
sin 𝐴 +

1

2
= 0. 

𝐷 = (−
3

2
)

2

− 4 ∙
1

2
=

1

4
. 

sin 𝐴 =

3
2

±
1
2

2
= 1 ;  

1

2
. 

But A is acute angles, so sin 𝐴 ≠ 1 (𝐴 ≠ 90°). 

Thus, 

sin 𝐴 =
1

2
 𝑎𝑛𝑑 𝐴 = 30°. 

sin 𝐴 = sin 𝐵 sin 𝐵 =
1

2
→ sin 𝐵 =

1

√2
 ( 𝑎𝑛𝑔𝑙𝑒 𝐵 𝑖𝑠 𝑎𝑐𝑢𝑡𝑒 𝑡𝑜𝑜)  → 𝐵 = 45°. 

So, 

A + B = 75°. 

Answer: 𝟕𝟓°. 
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